
VÝKOP  =  0,18 M2

SEJMUTÍ ORNICE  =  0 M2

NÁSYP  =  0 M2

NOVÁ ORNICE  =  0 M2

PŘÍČNÝ ŘEZ  Pf 5
M - 110,0

ROZEBRÁNÍ STÁV.ZP. PLOCH  =  3,56 M2
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VÝKOP  =  0,32 M2

SEJMUTÍ ORNICE  =  0,21 M2

NÁSYP  =  0 M2

NOVÁ ORNICE  =  0,14 M2

PŘÍČNÝ ŘEZ  Pf 6
M - 135,0

ROZEBRÁNÍ STÁV.ZP. PLOCH  =  2,64 M2
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VÝKOP  =  0,70 M2

SEJMUTÍ ORNICE  =  0,41 M2

NÁSYP  =  0 M2

NOVÁ ORNICE  =  0 M2

PŘÍČNÝ ŘEZ  Pf 7
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ROZEBRÁNÍ STÁV.ZP. PLOCH  =  2,48 M2
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NÁSYP  =  0 M2

NOVÁ ORNICE  =  0,15 M2

PŘÍČNÝ ŘEZ  Pf 8
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ROZEBRÁNÍ STÁV.ZP. PLOCH  =  2,86 M2
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